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  صحیح و ششصد و چهار هزارم
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 �h�d
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#� 
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500
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16 -   

���	#  6145/0 B 5790/0 B 0035/0 B 8092/0 B 299/0 B 602/0  B 05/0  B 345/0  B 5/0 B 81/0 B 50/0  B 4/0  B 01/0  

�/ 4���	# C,% D� .E  0035/0 B 299/0 B5/0 B 345/0 B 4/0 B 01/0  

C,% �9 .9�.9 4���	#  5/0 B 50/0  
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 �	# :;< � 	,%�� � ���� )8�  

J<1/ 4��*#� �	# G�.E :�H� $9 :3457/0    I�.� $9 :$> &� )8� � &�'�� � 	
��;< � ���� �����  

" (F��9 G�K� �	# G�.E  :�H� $9 :740/53  I�.� $9 :	,L8� � $> � &�'������� :;< �   

J<1/ G�K� �	# G�.E  :�H� $9 :047/35    I�.� $9 :����� )8� � :;< � ��� � =>  

18-   
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F��9 G�K� �	# G�.E :�H� $9 :1/98765  I�.� $9 : � ���� )*� � �1%��� J� �  !"
 �	# ��� � ),- � 	,L8�  

J<1/ G�K� �	# G�.E :�H� $9 :2345/10  I�.� $9 :����� &� ��� � :;< � 	,!> � ���� �� �  !"
 �	# &�  

19-   
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F��9 G�K� :
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8 9
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20-   
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35
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08/0 + 3/0 + 2 + 10  =38/12  009/0 + 9  =009/9  

005/0 + 04/0 + 8 + 20  =045/28  005/0 + 08/0 + 3/0 + 4 + 40 =385/44  

0008/0 + 09/0  =0908/0  0008/0 + 006/0 + 09/0 + 3/0 + 7  =3968/7  

1000

8

1000

40

1000

100

1000

148
++=  
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6
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70
510
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15 +++=  
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9

10

7
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9
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21-   

220/63  >  222/63  725/0 >  25/1  03/0  >   3/0  

435/100   > 005/102  392/5  <  293/5  480/0 =  48/0  

287/0 >  1  019/0 >  19/0  4/1   <   299/0  

790  <  90/79  050/50  =  05/50  8  <  777/7  

22-   

07090/125   <  0079/125  0009/8   >  008/18  

10020/1   >   0010/10  9070/19  <  79000/19  
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23-    

   

 

24- 876/149 

25-  9876/0  

26 -   

  

 

543210

32 /
81 /

14 /
  1/4  =3/2 + 8/1  

  

 

543210

42 /

31 /

73 /
  7/3  =3/1 + 4/2  

  

 

543210

94 /

52 /

42 /
  4/2  =5/2 – 9/4   

27-  4/8 = 4/2 + 6 

5/5 = 5/3 + 7/0 + 3/1  

6/4 = 2/3 – 8/7  

4/0 = 5/0 – 9/0  

28-   05/8 =  65/4 + 4/3 

67/3 = 52/0 + 09/3 + 06/0  

35/3 = 41/2 – 76/5  

44/0 = 34/0 – 78/0  

29-   

  296/7 + 13/0 + 4/20              491/0 – 8/216      394/0 + 03/68  
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< 
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044/8 102/8 
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826/27 

        3     0     8     6  

 4     9     3     0 +            

 4     2     4     8     6 

 0     0     8     6     1     2  

 1     9     4     0             -  

 9     0     3     6     1     2 

               4     0     2  

        3     1     0  

 6     9     2     7+              

 6     2     8     7     2 

 یکان دهگان صدگان دهم صدم هزارم هزارم صدم دهم یکان دهگان صدگان صدگان دهگان یکان دهم صدم هزارم
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30-   
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/
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76810
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/
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////

  
865412

03012
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31-  

    101 = 71/1 + 92/99     031/1 =031/0 + 1  

    156/0 = 051/0 + 105/0    992/69 = 468/0 - 46/70  

        9/0=  1/800 – 8/3 + 2/797   

32-    

  005/1 = 76/23 – 765/24   →  765/24 + ................ = 76/23  

   11/32 = 24/38 – 35/70   →  24/38...... = . ............- 35/70   

  05/135 = 01/120 + 04/15 → 04/15 = 01/120 -..................   

33-   

28/0  =2/0 + 08/0  54  =04/0 – 04/54  2/12  =4/0 – 6/12  

51/0  =30/0 + 21/0  25/8  =25/0 + 8  206  =2/0 + 8/205  

8/190  =80/10 + 180  93/9  =06/0 – 99/9  01/0  =025/0 – 035/0  

4/9   =6/0 – 10  88/106  =80/0 + 08/106  15 =06/1 – 06/16  

25/30  =25/15 + 75/0 – 75/15  9/9  =10/70 – 80  3075/300  =3075/0 + 300  

014004010 =−+ ///  46  =5/22 + 25/12 + 5/6 + 75/4  9/0  =13/5 – 03/6  

34- 2017512525152751502507507515175251250 =+++++++++++++ ///////////// 

35-   

5/22  <  75/1 + 20  5/22  <  5/0 + 20  

5/22  <  25/2 + 20  5/22  <  5/1 + 20  
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33
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10

23
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56
/==−  =3/2 – 6/5  97
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79
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23

10

56
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 33
10

3
3

10

3
2

10

6
5 /==− =3/2 – 6/5  97

10

9
7

10

3
2

10

6
5 /==+  =3/2 + 6/5  

3/3 = 3/0 – 6/3  =3/2 – 6/5  9/7 = 3/0 + 6/7  =3/2 + 6/5  

3/3 = 33 ���  =23 ��� – 56 ���   =3/2 – 6/5  9/7 ���  =79 ���  =23 ���  +56 ���  =3/2 + 6/5  

33

32

65

/

/
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−  

97

32

65

/

/

/

+  

2-   

- .+/ �� O.P Q�� $9:  19
100

910

10

26

10

35
/==×  =6/2 × 5/3 

- 4��*#� �	# �� O.P Q�� $9 :  
→× 62

53
/
/
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- )��+� SKT Q�� $9 �� :   =6/2 × 5/3 
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12
/
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/
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11
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420
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12

/

/
/
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3-    

193  =1000 × 193/0  

00025/0  =001/0 × 25/0  

1763  =10 × 3/176  

986/5  =1/0 × 86/59  

520  =100 × 2/5  

1242/0  =01/0 × 42/12  

48250  =1000 × 25/48  

0093/0  =001/0 × 3/9  

7  =10 × 7/0  

607/0  =1/0 × 07/6  

6/925  =100 × 256/9  

256/9  =01/0 × 6/925  

4-   

  08/1 = 2/1 × 9/0  
100

108

10

12

10

9
=×  =× 2190 //  

  09/0 = 02/0 × 5/4  
1000

90

100

2

10

45
=×   .................. =02/0 × 5/4  

  3/53 = 2/5 × 25/10  
1000

53300

10

52

100

1025
=×   ............... =2/5 × 25/10  

  002/0 = 4/0 × 005/0  
10000

20

10

4

1000

5
=×   ................ =4/0 × 005/0  

  712/127 = 52/0 × 6/245  
1000

127712

100

52

10

2456
=×   ............. =52/0 × 6/245  

5-   

2/7897  =2000 × 9486/3  41010  =500 × 02/82  1620  =300 × 4/5  

1054  =10 × )5/40 – 9/145(  20040  =1000 × )8 + 04/12(  

364/705 ) =25/30 – 1/65 ( ×)22/0 + 02/20(  114  =400 × )62 – 285/62(  

160440 ) =4/0 – 4/800) (5/18 + 05/182(  2/1 ) =4/1 + 6/18) (05/0 – 11/0(  

6 -   

0045/0  =5/0 × 009/0   08/6  =4/0 × 2/15  032/0  =04/0 × 8/0  

4944  =24/8 × 600  007/0  =005/0 × 4/1  4620  =6/6 × 700  

660  =1000× ) 6/0 + 06/0(  175/0  =175/0 × )3/0 + 7/0(  

20010  =10000 × )002/1 – 003/3(  8800  =100 × )5/2 – 5/90(  

7-   

1/265  =40/4 × 25/60  806/1  =21/0 × 6/8  025/0  =5/0 × 05/0  

01/50  =5 × 002/10  25/200  =45/0 × 445  22/11022  =11 × 02/1002  

  



����  ����	 	��
����
��� � 

 43 

8-  

 

61/

70/

121/

  

 
30/

90/  

 

80/

50/

  

12/1  =7/0 × 6/1  27/0  =3/0 × 9/0  40/0  =5/0 × 8/0  

9-   

 

  

 

  

 

  

7/0 =6 ÷ 42/0  05/0 =5 ÷ 25/0  2/0 =4 ÷ 8/0  

10-   
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1
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16
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01
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10

96

5

23
16
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×
/

/
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1000

845
5

1000
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11-   

  230 = 100×   3/2  70 = 1000 × 07/0  7/2100 = 100 × 007/21  

  6/79 = 100 × 796/0  4300 = 1000 × 3/4  66/750 = 10 × 066/75  

  00703/0 = 1000 ÷ 03/7  24/76 = 10 ÷ 4/762  03/0 = 100 ÷ 3  

  4/1  =1000 ÷ 1400  02/1 = 100 ÷ 102  412/0 = 100 ÷ 2/41   
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12-   

082/0  =10 ÷ 82/0  826/1  =1000  ÷1826  6/7  =10 ÷ 76  
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4-    
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/
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/
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/
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/
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/
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8-       8/254 = 075/40 + 005/38 + 75/42 + 29/35 + 6/50 + 08/48 

466/42 = 6 ÷ 8/254 

9-                

 

10-       

0000
0700035

5000035

/

/

 

11-                         628 = 14/3 × )100×2( 

L�   .6/125 = 5 ÷ 628 

12-  �9 9 $9 :9�/ $L-� J� Q.9 10&	- �!+ZE 4��+� )K+H  )>�.     46/5 = 10 ÷ 6/54 

0800

7200
8000

207
008

024
032

360
0392

26673840

1200008792

/

/



���� ���� ����
� � ��� 3  

 48 

 

�
�$"� �!" �# �!" %� �����  

1-   
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3-   
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200000056���%�  :)b�A�� �A  � @A IA��>� �A 8�9  380$%���  56���%� :=>� )�� @A 8�9  

08/12$��  56���%� :),64 @A 8�9  45$%���  56���%� :.�� 5��! @A 8�9  

24- $��  56�� �%� /$%��� 
�%� 56�  /$�� 56���%� 

25-  

7050$%���   56���%�= 05/7$��   56���%�→  7050
1

1000057
=

×
=

/
?  

  654 56���%�  =654000$��     56���%�→ 654
1000
6540001

=
×

=?   

       → 989250000
1
100000025989

=
×

=
/

?  

98925000$%���   56���%� =25/98956���%�   

  122/0%�  56��� =122000 $%���      56���%�→ 1220
1000000

1220001
/? =

×
=  

26 -  3085000  -  6400   -  9   -  064/7   -  1500105   -  174/26  -  303/0  -  50000 

27- ��� :1000 –
������     P :5000 – 5  
W :660     � :06/0    x- :24450  � :3/9 

28-   

  

29-   

30- �����	 ���H� 
� @A�- 
�4 ���H� 
�4 3�B���� ��  �>� 8�d*� .�����	 ���H� �� 6� �2 �  �>� 0E4 8- �2 �  �>� 
��6� �� .
 AQ ��� )2 .�����	. 

1568519
5197512

7
2

225
512525

=×

=+

=
×+

=×

/

//

)(

//

4050512324
32436288

3666
288472
72612

=×

=+

=×

=×

=×

/

*�� 

*���-�# 

./ 
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    ������ ������  

1-  y�,A�*�28  9��  /@b�� �2 02�� ���� ��   9�� G�-    /26/28 = 14/3 × )3×3( 

2-    

 

8k  

50k  

5/10k 

  

  185/346 = 14/3 × )5/10×5/10(       5/1962 = 14/3 × )25 × 25(      96/200 = 14/3 × 8 × 8 

3-   

  55887
4
37850

78501435050
/

/)(

=×

=××

    1256
4
15024

50241434040
=×

=×× /)(
  

1413
2
12826

28261433030
30260

=×

=××

=÷

/)( 

4-    

  

  

5-   

 

30k   

⇐  

11304 = 14/3 × 60 × 60  
8�� �9�d�   s�h2 .�A��5652 = 2÷  11304  

2826 = 14/3 × 30 × 30  
8�� �9�d�    �/� � @b�� .�A��1413 = 2 ÷ 2826  

   $B�� �9�d�4239 = 1413 – 5652  
 

20k 
15k  

15 k 

  

⇐  

BA�4 �� $B�� q�r�h$�  �/� q�r� 3A 8�� @A 8�>� .�A��  G
���� 8�-��	 $B��.  

628
2

1432020
=

×× /
  

1256 = 14/3 × 20 × 20  
8�� �9�d�   s�h2 .�A��628=2 ÷1256  

314 = 14/3 × 10 × 10  
8�� �9�d�   @b�� .�A��157=2 ÷314  

  O�� �9�d�785 = 157 + 628 

  G
�� �9�d�400
2

2040
=

×  

8�� �� �� �9�d�  .�A��94/379 =14/3×11×11  
   O�� �9�d�94/779 = 94/379 + 400 

1256 = 14/3 × 20×20  
8�� �9�d�   .�A��628 = 2 ÷ 1256  

   q�r� �9�d�200
2

2020
=

×  

   O�� �9�d�828 = 200 + 628 
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50k  

50k 

  

⇐  

8�� �� �9�d� &02�� �9�d� 
� .�A��  G��d� G).�A�� @A ( 8�
. � ���.  

   02�� �9�d�2500 = 50 × 50  
   .�A�� �9�d�5/1962 =14/3 × 25 × 25  
   $B�� �9�d�5/537 = 5/1962 – 2500  

 

60k  
  

⇐  

8z�! q�r� @A �9�d� .�A�� 02� @A �9�d� 
� )A��h��  G
G��d%� . � 8� 3�!�d�� ��� .  

11304 = 14/3 × 60 × 60  
  .�A�� 02� �9�d�2826 = 4 ÷ 11304  

 q�r� �9�d�) �/�  (1800
2

6060
=

×  

   $B�� �9�d�1026 = 1800 – 2826  

6 -   

2826 = 14/3 × )30×30(  
1413=  2 ÷ 2826  

5/706 = 14/3 × )15×15(  
25/353 = 2 ÷ 5/706  

25/1766 = 25/353 + 1413  

 

30k 

15k 

  

5024 = 14/3 × )40×40(  
8�� �9�d�  .�A��).�A�� 02� �� ��(  2512 = 2 ÷ 5024  

  02�� �9�d�1600 = 40 × 40  
   $B�� �Ed! �9�d�912 = 1600 – 2512  

�A      :912 =57/0 × 1600  

 

40k 

  

  02�� �9�d�2500 = 50 × 50  
 .�A�� �9�d�)4.�A�� 02� ��   (5/1962 = 14/3 × )25 × 25(  

5/537 = 5/1962 - 2500  

 
25k 

  

7-    .�A�� �9�d�    s�h2 G31400 = 14/3 × )100 × 100( 

.�A�� �9�d�  @b�� G) �/�    (7850 = 14/3 × )50 × 50(  
      $B�� �Ed! �9�d�23550 = 7850 – 31400  

3     �2��2       3 = 7850 ÷ 23550  

8-    
12
5

36
15

360
150

==  

    .�A�� �9�d�1256 = 14/3 × )20 × 20(  

3
1523

12
4523

12
62801256

12
5

===× 
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9-   45216 = 14/3 × )120×120(    11304 = 14/3 × )60×60(    2826 = 14/3 × )30×30( 

   
2763245216

18
11

18
11

36
22

360
220

=×

==

    
251211304

9
2

9
2

360
80

=×

=

    
52352826

12
1

12
1

360
30

/=×

=

 

10-   

  

 

20k  

18k  

      

 

4k    
  300 = 3 × )10×10(  60=3×20          .�A�� U�X�24 = 3 × )4×2(  
  150 = 2 ÷ 300    30 = 2 ÷ 60        .�A�� 02� U�X�6 = 4 ÷ 24  
  243 = 3 × )9×9(    50 = 20 + 30      O�� U�X�  :14 = 8 + 6  
  5/121 = 2 ÷ 243    54 = 3 × 18      .�A�� �9�d�   :48 = 3 × )4×4(  
  �9�d�5/271 = 5/121 + 150  27 = 2 ÷ 54  
        45 = 18 + 27  
         U�X�95 = 45 + 50  

11-           U�X�257 = 100 + 157     157 = 2 ÷ 314     314 = 14/3 × 50 × 2 

        �9�d�3925 = 2 ÷ 7850    7850 = 14/3 × )50 × 50(  

8�� �� U�X�   @b�� .�A��157 = 14/3 × 50   8�� U�X�   s�h2 .�A��157 = 2 ÷ 314         314 = 14/3 × 50 × 2  
  O�� U�X�314 = 157 + 157  

3925 = 2 ÷ 7850   7850 = 14/3 × )50 × 50(  
 �9�d�5/5887 = 5/1962 + 3925     5/1962 = 14/3 × )25 × 25( 

12-   
 

20k  

  

⇐  

  s�h2 .�A�� �9�d�5024 = 14/3 × )40 × 40(  
 @b�� .�A�� �9�d�) �/�  (1256 = 14/3 × )20 × 20(  

   $B�� �Ed! �9�d�3768 = 1256 – 5024  

 
50k  

  

⇐  

2500 = 50 × 50  
7850 = 14/3 × 50 × 50  

3925 = 2 ÷ 7850  
�Ed! 
� $�A �9�d�    $B�� G�-1425 = 2500 – 3925  

   $B�� �Ed! �9�d�5700 = 1425 × 4  
�A                                            :2500 = 50 × 50  

1425 = 57/0 × 2500  
5700 = 1425 × 4  
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30k 

  

⇐  

 
� O��48��   G��d� .�A��)2.�A��  ( O��m� 02�� @A �
. � ���               :              2826 = 14/3 × )30×30(  

 �9�d�48��     .�A��5652 = 2826 × 2  
      02�� �9�d�900 = 30 × 30  

 O�� �9�d�)$B��    (6552 = 900 + 5652  

 

40k 

  

⇐  

    02�� �9�d�1600 = 40 × 40  
8�� �� �9�d� 02�� �9�d� 
�  G��d� .�A��).�A�� @A ( 8�

. �  ��� .  
8�� �� �9�d�                .�A��1256 = 14/3 × )20×20(  

    $B�� �Ed! �9�d�344 = 1256 – 1600  
  

13- �� �2��2 O�;%d� "�# .�A�� U�X� �2 � )���%�� 3�A�T � g�2 G�- .)���%�� F�/��� �2 ��� �2��2 O�;%d� t��. 

   O�;%d� "�#6/125 = 14/3 × 40  
  O�;%d� �9�d�7536 = 60 × 6/125  

   .�A�� @A �9�d�1256 = 14/3 × )20 × 20(  
   .�A�� �� �9�d�2512 = 1256 × 2  

    )���%�� �9�d�10048 = 2512 + 7536 
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    ������ � ���  

1- .��4  .��E� G2 

2-  PQ =9/2$%���   �%� =29$���  �%�   � Q =6/2$%���   �%� =26$���  �%�  
  W � =7/1$%���   �%� =17$���  �%�   P W =5/1$%���   �%� =15$���  �%�  

 W Q =8/2$%���   �%� =28$���  �%�   P � =3$%���   �%� =30$���  �%�  

3-   

 

4- x-� 

5-  

P
{

 

6 -   k|� 
�»
 « 0�L )2»M W «$� ��E� .��T "�# � 8�>� $� .
� �� �� ��E� U	 8A���. 

 

7-   

  

8- $� U	 G��A
 �� 6� &)�2  .��T �2 �� ��� 8�� ����  U	»W 
 « ��2 ��E�. 

  

9- U	 &)�2 $� G��A
 G�- ��� 8�� ����.  

  


 192-�
  �3
 

262-�
  �3
 
192-�
  
�3 

82-�
  �3
 

16$���  �%� 

18  
$��� �%� 

24  
$��� �%� 

17 $��� �%� 

 

W 
 

 

W 
 

17 $��� �%� 

28 20 

5/1k  

9/1k  

4/1k  

4/1k  

8/1k  

2/1k  
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10- A U*H &��	$� U	 @ .��T �2 8- )� ��� 8�� ���� ��YB2 �Q U�� 
� 8- �  ��2 ��E� U	. 

  

11-   

 

  

12-  )�2 

	��3� :.��T @A ��>���E� G�� );*� �- )�R�H .��T �Q �� �� 
� U	  U	
��� .
� �� @A )2 )m�E-.  

 

13- )��%� :)�R�H );*� 
� @A�- G .��T �� �� 
� �-  U	
� �� @A )2��� .
 . 

G��d%� F�� 
� )m�E- . ����A� q�r� ��� 3�!�d�� .  
  

  
 

14-   

 

°72°18  

 

°50
°40

  

 

°60

°30

  

°=°+° 901872  °=°+° 904050  °=°+° 906030  

15-   

 

°75

°105

  

 

°60

°120

  

 
°140°40  

 

°145°35  

°=°+° 18075105  °=°+° 18060120  °=°+° 18014040  °=°+° 18035145  

16 -   

    

 
°80

°10    

 

°40 °50 

 

W 
 

 
3 /3k  3 /3k  

3k  3k  

 

5 k 

1/5 k 

8/4 k 

1/5 k 

8/4 k 

5 k 
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17- ���  :°12        °=°−° 127890 

  P  :°71    °=°−° 71109180  

18-   

  

 

°130
°50  

 

°55 °125
 

19-   

)A��
  °62  °50  °35  °10  °80  °78  
8E%�  °28  °40  °55  °80  °10  °12  
O1E��  °118  °130  °145  °170  °100  °102  

OE�� � 8E%� Mf%	�  °90  °90  °90  °90  °90  °90  

20-                          6 = 5 + 1 

@b�� )A��
    ��°=÷° 15690  
)A��
 s�h2 G    ��°=×° 75515  

21-   

 

22-            

  

23-     OE��       °=+ 18031 ˆˆ     8E%�    °=+ 9031 ˆˆ 

     OE��      °=+ 18052 ˆˆ    8E%�     °=+ 9062 ˆˆ  

              OE��°=+ 18054 ˆˆ 

24-                  )A��
 OE��  G120)4��         :°=°−° 60120180 

                 8E%�        °=°−° 306090  

25-   

 

°128
°52°52

°128

  

 

°45
°135

°45

  

 

°120

°120

°60°60
°60

  

 

°135
°45

°45

  

 

180
120
60

6
4
2

 

90
54
36

5
3
2
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26 -   

  
°=÷°

°=°−°

652130
13050180    °=×° 130265    

°=°−°

°=×°

12060180
60230       °=÷° 45290 

27- 
°=÷°

°=°−°

527255
553590
/

      
°=°−°

°=°+°

60120180
1203090

 

28-           

  
)A��
  G2:

  
°=°−°

°=

°=÷°

13545180
451

45290
ˆ 

29- 
°=÷°

°=°−°

552110
11070180  o14535180 =°−°     

30-   

 °=°−° 13545180  °=°−° 504090   
5110569180

5692139
13941180

//
/

=−

°=÷

°=−°

  
 46672180 =°×−° )(  

°=°−

°=÷

13545180
45290  

°=÷

°=×−

22244
44268180 )(  

°=÷°

°=−

5672135
13545180

/
  

1112346180
23246
46292

9288180

=+−

°=÷

°=÷

°=−

)(

  

  
31-     �m-        8e%>� $6�L      8e%>� $6�L I�        

    13581080
108018028

=÷

=×− )(    1206720
72018026

=÷

=×− )(    
°=−

=÷

9090180
902180  

32- 90 

33-  ����9 : °90     ����5:30 : o15
15150165
1655530

150305









=−

=×

=×

/     ����6 : °180  

 ����10: o60
60300360

3003010





=−

=×
   ����2:15 :  °522 /     ����6:45 :  °567 / 

34-               36010
722

    

  %40      
10
4

100
40

=  100360
40144

  

    °288      
10
8

100
80

==%80  

          360100
28880

  

35- 31400 = 14/3×  100 × 100 

    31400100
628020

  

 

°72

 

°288
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��� ���
    

1-  )>Ah�2 �    2030 = 1000 × 03/2 

2-  )>Ah�3   �    045/0  �%�   =5/4�%�   

3-  )>Ah�2�  

4-  )>Ah�4   �  750  ��%�-   =5/702���%�����  

6/7 = 5/7 + 1/0 

5-  )>Ah�1 �      856/16 = 2 × 428/8 

  65/2 = 35/6 ÷ 856/16 

6 -  )>Ah�3 �      5/2053 = 6 × )5/18 × 5/18( 

7-  )>Ah�2 �          5*� � ��4 q�r� �� �9�d�195 = 13 × 15 

     �� �9�d�375 = 15 × 25  
     ��ST �� �9�d�750) = 15 × 25 ( ×2  

      O� �9�d�1320 = 750 + 375 + 195  
     =�� 
��792 = 6/0 × 1320 

8-  )>Ah�4�   

9-  )>Ah�2 �    $%���    56���%�10000 = 8 × )25×50( 

  01/0 = 1000000 ÷ 10000 

10- >Ah� )2 �    2090000 = 1000000 × 09/2 

11-  )>Ah�3� 

12-  )>Ah�1   �     8d4 8�934000 = 5/2 × 13600             13600 = 80 × 170 

    )���%�� 8�970650 = 25 × 2826        2826 = 14/3 × )30×30       (30 = 2 ÷ 60  
  $%���   56���%�269350 = 70650 – 340000  

  35/269 = 1000 ÷ 269350 

13- Ah� )>4   �   02�� �9�d�                       36 = 6 × 6 

  $B�� q�r� �� �9�d�            18 = 3 × 6  
  @b�� q�r� �9�d�      5/4 = 2 ÷ )3×3(  

  5/22 = 5/4 + 18  
  5/13 = 5/22  - 36 

14-  )>Ah� 1   �  64 = 2 × 32 

   �;! .
� ��8$%���  ��� �%�       .64  = 8  ×  8     
  4 = 2 ÷ 8 

 3

3

6

6
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15- Ah� )>2 � 

16 -  )>Ah�3   �  50 = 130 – 180                  130 = 2 × 65 

17-  )>Ah�1 � 

18-  )>Ah�2   �  

180
90
63
27

20
10
7
3

 

19-  )>Ah�4 �  336 = 21 × 16             840=21  × 40                          630 = 21 × 30 

    861 =  21 ×  41      920
2

401630
=

×+ )(
  

      18402920 =×  

  4507 = 861 + 1840 + 336 + 840 + 630 

20-  )>Ah�4   �  7850 = 14/3 × )50×50( 

  7850100
549570
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����  ��� 	
���
� :���� � �����  

 

����� � �	
� �

�  

1 - 16 �� 20  /  
10
8

20
16

=  /  8/0  /   4 �� 20  �
  
20
4

  �
  2/0    

���
�� :0 �� 20   �
 
20
0

 �
   0      ����
�� :20  ��   20   �
 
20
20

  �
 1  

2 -  060
100

6
50
3

/== 

3 -   24 �� 40   �
   
40
24

  �
   6/0 

 16 �� 40   �
   
40
16

   �
   4/0  

4 - 
8

15

5
2
4
3

= 

5 - ��� (10
1
10

5
1
1
2

==   � (
2
3

4
6

3
4
1
2

==    � (
3
20

5
1
3
4

= 

6 - 1 �� 20     
20
1

5
1

4
1

1
5

4
1

1
5
4
1

=×=÷= 

7-  
3
1

 �� 6:      1 �� 18     
18
1

6
1

3
1

1
6

3
1

1
6
3
1

=×=÷=  

3
2

 �� 
3
1

:   4 �� 3     
3
4

1
2

3
2

2
1

3
2

2
1
3
2

=×=÷=  

8 �� 
4
1

:   32 �� 1   �
  32   32
1
32

1
4

1
8

4
1

1
8

4
1
1
8

==×=÷= 
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8 -   

  3 �� 12    
12
3

1
3
4
3

=  

9 - 
1

12
1
4

1
3

4
1

1
3

4
1
1
3

=×=÷= 

10 - 9 �� 10 ==
10
9

90/     90 �� 100 ==
100
90

900/  �
  9/0  

11 -    

   

  

  

  

 - �����  !  

 - �� �� "#$ %�&� ��� �
 �� '() *&+ ",- �� ./0 ���1� 2�34 �� 5#6 7890 �:;(4 .<&+ #6 ���1� �� .(<
 ,(� *&+ 5

.4 !�
= �
 �� 7890 "�/> �� �> "? 2�34 .<&+ '() !#- .'() 2�34 A) BC�(;4 "? *&+ 5#6 �� �:;(4 .<&+� 7C. 

  4      3     2     1  D�84#��     

16    12    8     4E�$       
4×

  
12 - ���: 7C� . D�84#�� �>4D�84#�� !�,<� �
�FG� ��   !H�! E�$  E�$ 7890 "�/> �� �> ,-,>�#I �G�+� F�0 "�J
�>. 

� :79�0 .�K/4 "#$L#�#�� "��G�94 !�,<� 7C�  ,(-�� �;-�! M�G �> �� �> . 

13 -   

  

     

2
1

22
11

22256

=

=×+ )(
    

2

1

14

7

14245

=

=×+ )(

      

2

1

14

7

14234

=

=×+ )(

     

2
1

10
5

10223

=

=×+ )(
     

2
1

6
3

6212

=

=×+ )(
  

  

  

  

 3

12

5

1

20

4

35

7

512

52

/

/

753 / 40

8

256

251

/

/

5

1

↓

5

1

↓

5

1

↓

5

1

↓

5

1

↓

5

1

↓

2

1

6

3
=

2
1

10
5

=
2
1

14
7

=
2
1

18
9

=
2
1

22
11

=
2
1

40
20

=
2
1

7
53

=
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/

/

− 
02530

14886

/

/

−
 

10-   $� C	� � ��  #' ��1: 

19 = 4 + 10 + 5  42/4 + 12/10 + 38/5  

20   92/19 = 42/4 + 12/10 + 38/5  

  $� C	� � ��  #' ��1/0:  

18/54 = 9/12 × 2/4  88/12×  21/4  

2/54  2248/54= 88/12 × 21/4  

  $� C	� � ��  #' ��1:  

4/17 = 3/8  - 3/9 + 4/16  26/8 – 33/9 + 42/16  

5/17  49/17 = 26/8 – 33/9 + 42/16 

11-   
9/1 = 5/1 - 8/0 + 6/2 = 5/1  -) 2×4/0 + (6/2  = 5/1 –) 1/4 ÷ 2/8 ( ×4/0 + 6/2  

1/14 = 3/0 - 4/14 = 5/0 × 6/0 – 3 × 5/2 ÷ 12  

 267/14  

 924/6+    

 ............... 

3/14 

 9/6+   

 2/21 

 � &��'
   (� �
1/0 

27/14 

 92/6+   

 19/21 

 � &��'
   (� �
01/0 
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15

13
9

15

148

15

6

15

154

5

2

15

154

5

2

5

11

3

14

8

5

8

2

5

1
2

3

2
4 ==−=−=−×=÷−× )()(  

6/171 = 45 + 6/126) = 18 - 63 + (6/126) ) = 10 + 8 (– 63  + (6/126  

662442212
1
4

2
21262

4
1

2
21

=+=×+×=××+÷ )()()( ) = 2 × )5/0 – 5/6 ( ×2 + ( 
4
1

2
110 ÷  

12-   
3178/296 = 6822/3 - 300) = 74/122 × 03/0 ( - 300) = 26/102 – 225 (  ×03/0 – 300  

500 = 70 + 430 = 70) + 5/2 × 172 = (400 - 70 + 5/2 × )(
2
486× = 400 – 70 + 5/2 × )(

4
286 ÷ 

75/82 = 75/22 + 60) = 1/9×5/2+ (60)) = 9+1/0( ×5/2+ (60))) = 5/0 ÷ 45/0 + (1/0 ( ×5/2 + (60  

15/45 = 15/45 + 0 =×+× 30515
7
0

6
42 /  

2/6 = 8/0  - 6 + 1 = 5 ÷ 4 – 3 × 2 + 1  

13-   

246/0 = 05/2 × 12/0=× 052
100
12

/  

15/1 = 8/0 + 35/0=+
5
4

350 /  

21 = 75/0 ÷ 75/15=÷ 750
4
315 /  

475/1 = 125/0  - 6/1 = 
1000

125

100

160

8

1

25

40
−=−  

14-   

1320
1000

132

250

33

5

6

100

11

5

6
110

3

50

// ===
/

×=×  

1610
25
410

25
254

1
2

100
508

2
1

100
508

2
1085 // ===×=÷=÷  

79
10
79

10
97

10
84

10
13

5
42

10
13

5
2831 // ===+=+=+  

 5754
1000
4575

1000
12500

1000
17075

4
50

1000
17075

4
21207517 // ==−=−=−  

15-  

 
70
36

70
14

70
50

10
2

7
520

7
5

=−=−=− /  

30

652

6

8

10

163

6

2
1316

3

4

=
/

/
×=×/  

5/5 = 15/5 + 35/0=+
20
35350/  
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1-  49	I�3 j    421042810
7
73

// ≈= 

2-  49	I�3 j  

3-  49	I�1 j    351/115 = 1/3 × )1/6 × 1/6          (1/6 = 2 ÷ 2/12 

4-  49	I�2 j 

5-  49	I�4j  

6 -  49	I�1 j 

7-  49	I�2   j  28/124 = 01/114 + 27/10 

08/0 = 2/124  - 28/124        2/124 = 114 + 2/10 

8-  49	I�1   j  95  53/94 

9-  49	I�4   j  75 = 25 + 50 

10-  49	I�2   j  
2
41505050255

2
40

−÷×÷+ )///( 

510495201070
2
41105020 // =−=−+ 


